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2x — 6y =410
-3z +9y=-15
6z — 18y = 30
—6z 4+ 18y = —-30

Adding 3 times the first equation to 2 times the second equation gives

0=0 . Writing the equation in slope-intercept form, we have 2z — 6y =10 <«

—6y=-2z+10 < y=iz— %, s0asolution is any pair of the form (z, 1z — £), where = is
any real number.

6z + 4y =12
{Qx + 6y =18

18z 4+ 12y = 36
—18z — 12y = —36

0 =0 . Writing the equation in slope-intercept form, we have 6z + 4y =12 &

dy=—-6x+12 & y= —%w + 3, so a solution is any pair of the form (x, ~%x + 3), where z
is any real number.

Adding 3 times the first equation to —2 times the second equation gives

— 3t = —
{gz _ g ‘= _:15. Adding 2 times the first equation to 3 times the second equation gives
16s — 6t = —6
15s — 6t = -3

s=-3.508(-3)-3t=-3 & —-24-3t=-3 <& t=-7. Thus, the solution
is (s,t) = (-3,-7).

-1 3
=T + 2y = 3 . .
52 5Y . Adding 10 times the first equation to —3 times the second equation gives

5z + 6y = 30
—bx — 6y = —-30
0=0 . Writing the equation in slope-intercept form, we have z + 3y =3 &
g-y = —%x +3 & y= —gx + 5, so a solution is any pair of the form (x, -—gw + 5), where z is

any real number.

2¢ -5 -1 1
z +y

330 3y fi_ 6 2 We multiply the first equation by 6 and the second equation by 60 gives
ud =1
57 1o
4r—-104+y—-1=3 S o dr+y=14 . .
the system { 122 + 15y — 30 = 60 which simplifies to {1% + 15y = 90 Then adding 3 times

the first equation to —1 times the second equation gives 12z + 3y = 42
—122 — 15y = —90
-12y=-48 & y=4.
Sodz+(4)=14 & 4z=10 <& z=3. Thus, thesolutionis (3,4).

r—2y=1
20+2y=1
3z =2 & x=§.

So(3)-2y=1 & 2y=-1 & y=-L Thusthesolutionis (,-1).



